Stepper Gearboxes



g
o
@
S
Ly
O
o
&
e
=
wv

STEPPER GEARBOXES SG SERIES TABLE OF CONTENTS

SG SERIES GEARBOX MAXIMUM BACKLASH EMERGENCY MOTOR TECHNICAL DATA
BODY VELOCITY (arcmin) TORQUE COUPLING DATI TECNICI
STEPPER GEARBOXES (mm.) (min™) (Nm) (Flange Size) (page/pagina)
i=3

SG-P11-050-003-12-HH-712X 55 4000 12 28 NEMA 23 59
SG-P11-050-003-12-HH-782X 55 4000 12 28 60 mm. 60
5G-P11-070-003-12-SM-286X 70 4000 12 60 NEMA 34 61
i=5
SG-P12-040-005-15-HH-712X 40 5000 <15 30 NEMA 17 62
SG-P11-050-005-12-HH-712X 55 5000 12 30 NEMA 23 63
$G-P11-050-005-12-HH-782X 55 5000 12 30 60 mm. 64
SG-P11-050-005-12-5M-2861 55 5000 12 30 65
SG-P11-070-005-12-SM-286X 70 5000 12 70 NEMA 34 66

$G-P11-050-009-12-HH-712X 55 6000 12 28 NEMA 23 67
$G-P12-040-010-15-HH-52XX 40 5000 <15 25 NEMA 17 68
$G-P11-070-010-12-HH-782X 70 6000 12 60 60 mm. 69
$G-P11-070-010-12-5M-2861 70 6000 12 60 NEMA 34 70
$G-P11-090-010-12-5M-286X 90 6000 12 150 NEMA 34 71

i=25

SG-P12-040-025-19-HH-52XX 40 5000 <19 30 NEMA 17 72

£ =From3t025| |(Pp=12'

?%G V]
IN STOCK

-~




H€-P11-050-003-12-HH-712X-00000

PLANETARY GEARBOXES

SG 050

I _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW ]
18 53 24.5
4h9 : 3 M4x10
o 11.3.5 P,
3 | CHPR)
ar— 14 ,].25 B s R
N Y N
- =
CRR o
‘ 1
x4 44+0.05 10
25 max
—1
Rated Maximum Emergency Nominal Maximum Torsional rs’:ﬁ:ﬂg& ::\(?:l"g:?e Gear Gear
output acceleration step Backlash input momentary . ) . i moment
MODEL torque output torque | output torque speed input speed sifness o gﬁtﬂzltnsghaft on ;Et[)plzltnfhaft eficiency of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min'] | [min'] |[Nm/arcmin]  [N] IN] [%] [Kgm)
§G-P11-050-003-12-HH-712X-00000, 10 16 28 1 3300 4000 0.9 500 600 97 0.07x10°*
I _Suggested motors
< 103-H7123 SERIES 103-H7126 SERIES
A\ g
WAN] 2 S
___(u g b & ’ (0
] =
N (G)
§
MOUNTING OPERATION MODE: M Tightening torque M=5 Nm M Locking bolt M4 M R.T.A. Quality Control E]
~
[V




g
o
Q
S
Ly
O
o
&
e
=
wv

Hd-P11-050-003-12-HH-782X-00000

SG 050

¢=003

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW

| FLANGE SIDE VIEW |

23 53 24.5
4h9 3 33 ; M4x10
— - =
o | —
]
<
o
Q
2 -
S| Lz
o
/ ~E X
<
(I =
x4 44+0.05 10
30 max
=
) . ) Maximum Maximum
g?::t ac"zaeTLT;T;n Emt:{g[e)ncy Backlash N?nrglurlal nﬁar:emng]ry Torsional radial force | axial force Gear mg;aernt
. stiffness applying applying efficiency oment
MODEL torque output torque | output torque speed input speed on output shaft | on output shaft of inertia
[Nm] [Nm] [Nm] [arcmin] | [min] [min™] |[Nm/arcmin]  [N] IN] %] [Kgmi
§6-P11-050-003-12-HH-782X-00000[ 10 16 28 1 3300 4000 0.9 500 600 97 | 0.07x10°

. Suggested motors

103-H7823 SERIES

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

W Locking bolt M4

MW R.T.A. Quality Control




H€-P11-070-003-12-SM-286X-00000

SG 070

¢=003

P=12'

n MADE
IN
ITALY
(YY)
P64

I _Dimensions (Units:mm)

| SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
25 62 36
3
5h9 53 M5x12

o —

s |

‘:;7 20 4.0

Q
P el ol I~
~ o | — x| £ o
S L - EL‘# ~

| « =
T =
AxM5, 62+0.05 12
32 max
|
=
. . . Maximum Maximum
MODEL torpue output torque | output t%r ue 5 zed input § eertyi sifness anplying anplying efficiency rrfpmen_t
q puttorg puttorg p putsp on output shaft | on output shaft of inertia
[Nm] [Nm] (Nm] | [arcmin] | [min"] [min'] |[Nm/arcmin]  [N] IN] %] [Kgm]
§G-P11-070-003-12-5M-286X-00000 18 30 60 1 3300 4000 3 1300 1400 97 | 0.14x10°*

. Suggested motors

’ SM 2862 SERIES SM 2863 SERIES
A (%)
\ - W
\\ M & 1 - . >
o\ i &4 1 < o
AN : } 2
- 'nﬁ J ﬁ' E
N ] . r ) . ) O
e us J e us E
MOUNTING OPERATION MODE: M Tightening torque M=5 Nm B Locking bolt M4 W R.T.A. Quality Control EJ
~
wv




H€-P12-040-005-15-HH-52XX-00000

PLANETARY GEARBOXES

SG 040

¢=005

P<15’
n MADE
IN
ITALY

1P64

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
M6 59
Lj« 2 4 MAx6
—

i

S & \
S s M
Q 3 ‘

( ) 2
s 142
Q

24 max
1|
—1

Maximum Maximum

Rated Maximum Emergency Ngminat Maximum Torsional radial force axial force Gear Gear
output acceleration step Backlash input momentary Siffess aonlyin aoolyin efficiency moment
MODEL torque output torque | output torque speed input speed PPYIS PPy of inertia

on output shaft | on output shaft

[Nm] [Nm] [Nm] | [arcmin] | [min"] [min'] |[Nm/arcmin] ~ [N] IN] 1%] [Kem']

§G-P12-040-005-15-HH-52XX-00000, 12 18 30 5 5000 8000 0.8 220 200 98 1.6x10°

. Suggested motors

103-H5205 SERIES 103-H5208 SERIES 103-H5210 SERIES

g’

MOUNTING OPERATION MODE: M Tightening torque M=5 Nm W Locking bolt M4 M R.T.A. Quality Control

g
o
@
S
Ly
O
o
&
e
=
wv




§4-P11-050-005-12-HH-712X-00000

[} _Dimensions (Units:mm)

| SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
18 53 24.5
4h9 3 3 M4x10
o
S
S
umﬁ'i
O
- [
g C
Q L
‘ L1
4xd 4410.05
25 max
—
. . . Maximum Maximum
m | i | TE | i | | vy | T | bl | swtoe | o |G
MODEL torque output torque | output torque speed input speed o oﬁtiztsghaft on oupt[;)ztsghaft of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min'] | [min"] |[Nm/arcmin]  [N] IN] %] [Kgm]
§G-P11-050-005-12-HH-712X-00000, 12 20 30 17 3500 5000 0.9 500 600 97 0.05x10°

. Suggested motors

. 103-H7123 SERIES 103-H7126 SERIES
N (%)
\ %
\\\ [M .\ 8

¥ BT A —

kT O\ <
3
N/ G
%
MOUNTING OPERATION MODE: M Tightening torque M=5 Nm B |ocking bolt M4 W R.T.A. Quality Control EJ
~
wv




g
o
Q
S
Ly
O
o
&
e
=
wv

Hd-P11-050-005-12-HH-782X-00000

SG 050

¢=005

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW

| FLANGE SIDE VIEW |

23 53 24.5
4h9 3 3 M4x10
. .
S
<
o
Q
2 L
S| Lz
o
/ ~E X
<
(I =
x4 44+0.05 10
30 max
=
. . ) Maximum Maximum
gl?tt:l?t ac"zaeTLT;T;n Emt:{g[e)ncy Backlash N?nrglurlal nﬁar:emng]ry Torsional radial force | axial force Gear mg;aernt
. stiffness applying applying efficiency oment
MODEL torque output torque | output torque speed input speed on output shaft | on output shaft of inertia
[Nm] [Nm] [Nm] [arcmin] | [min] [min™] |[Nm/arcmin]  [N] IN] %] [Kgmi
§G-P11-050-005-12-HH-782X-00000, 12 20 30 1 3500 5000 0.9 500 600 97 | 0.05x10°

. Suggested motors

103-H7823 SERIES

MOUNTING OPERATION MODE:

M Tightening torque M=5 Nm

W Locking bolt M4

MW R.T.A. Quality Control




Hd-P11-050-005-12-SM-2861-00000

PLANETARY GEARBOXES —
SG 050|

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
25 53 24.5
3
4n9 3
- .
S
CI>7
s
Q
R | __
Q L
o
/ - 3
I =
AxM4 44+0.05 10
32 max
|
=
. . . Maximum Maximum
| e | | | | g | | ol | e |G| S
MODEL torque output torque | output torque speed input speed o oﬁtzztsghaft o oﬁtzztsghaft of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min"] [min™] |[Nm/arcmin]  [N] IN] %] [Kgmi
§G-P11-050-005-12-SM-2861-00000, 12 20 30 12 3500 5000 0.9 500 600 97 0.07x10°

. Suggested motors

’ SM 2861 SERIES
) (%]
\ ] _‘ ¥ %
WANL ”‘ 8
i BT | — |
F i = Ly
A § ) O
4 e us §
MOUNTING OPERATION MODE: M Tightening torque M=5 Nm W Locking bolt M4 W R.T.A. Quality Control E]
~
w




H€-P11-070-005-12-SM-286X-00000

SG 070

¢=005

P=12'

AO

1P6

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
5h9 M5x12
& _—H—_ 9 g
. /'? N I
/ ‘ \\‘ a
i R E
{ @ )eH | §
C O 7 / -
o N =
4xM5 62:6.05
32 max
|
==
]
) . ) Maximum Maximum
Rated Maximum Emergency Nominal Maximum . . . Gear
output acceleration step Backlash input momentary I(t)lrfsf]r?:sast ra;ilatlf;:]rce azlallf?r:ce efﬁi?:r:cy moment
MODEL torque output torque | output torque speed input speed on oti)t[;)ztfhaft on oti)t;:nzlltfhaft of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min'] | [min"] |[Nm/arcmin]  [N] IN] %] [Kem]
§G-P11-070-005-12-5M-286X-00000, 25 3 70 17 3500 5000 3 1300 1400 97 0.0910°

. Suggested motors

" : SM 2862 SERIES SM 2863 SERIES
X \ =
d o L]
’JOJ \‘\ ) lM_ \ b S48
o < \ :
IE \. A ;»ﬂ | ; a
O — . | v ) L] y p
§ ), ¢\ us o ¢ us
Ej MOUNTING OPERATION MODE: M Tightening torque M=5 Nm W Locking bolt M4 W R.T.A. Quality Control
~
W




Hd-P11-050-009-12-HH-712X-00000

SG 050

¢=009

P=12'

n MADE
IN
ITALY
(YY)
P64

I _Dimensions (Units:mm)

[ SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
18 53 24.5
409 : 3
as) .35
L o ‘
& % & 2l
1 : \\\ n - é
et @ e | o8 L
N / 0
g w) L]
AxM4 4416.05 10
25 max
1
Rated Maximum Emergency Nominal Maximum Torsional r:’\de::]ln;s:ge ;ﬁ:ﬂ%ﬂ Gear Gear
output acceleration step Backlash input momentary . ) : - moment
MODEL torque output torque | output torque speed input speed sifness o :Etmnsghm on gu;)t[:)lzltnsghaft effcency of inertia
[Nm] [Nm] [Nm] farcmin] | [min"] [min™] |[Nm/arcmin]  [N] IN] %] [Kgm}
§G-P11-050-009-12-HH-712X-00000, 10 16 28 17 4000 6000 0.9 500 600 97 0.04x10°*
JJ_Suggested motors
. 103-H7123 SERIES 103-H7126 SERIES
\ Q
\\ [M_ ;E\ 8
(‘.\' yo- \u_—_- — @
3
N 7 ! O
~= " 5
: X Q.
MOUNTING OPERATION MODE: M Tightening torque M=5 Nm B Locking bolt M4 W R.T.A. Quality Control EJ
~
[V




H€-P12-040-010-15-HH-52XX-00000

PLANETARY GEARBOXES

SG 040

¢=010

P<15'

MADE
IN
ITALY

(YY)
[ 1P64 |

_Dimensions (Units:mm)

| SHAFT SIDE VIEW | |_FLANGE SIDE VIEW |
26
M6 59 ) 23
31 5 2 4 ) 2.5 M4 X 6
2 &
> N L=
< T N =
) >

oL #

b . ]
N ?3.4 :
- 3 04
[S]

49T @

N\
)

7

e
L

24 max

—1
Rated Maxi E Nominal Maxi Maximum Maximum
wpt | aoention | dm | Soeh |t | noney | | bl | wlice | Gar S
i i i ffici
MODEL torque output torque | output torque speed input speed sifness 2pplyng 2pplying e of inertia

on output shaft | on output shaft
[Nm] [Nm] [Nm] [aremin] | [min"] [min'] |[Nm/arcmin]  [N] IN] 1%] [Kgm’]

$G-P12-040-010-15-HH-52XX-00000{ 6 9 5 <15 5000 8000 0.8 120 200 9% | 1.2x10°

. Suggested motors

{

T

103-H5205 SERIES 103-H5208 SERIES 103-H5210 SERIES

MOUNTING OPERATION MODE: B Tightening torque M=5 Nm B |ocking bolt M4 B R.T.A. Quality Control

3
o
@
S
Ly
O
o
&
e
=
wv




H€-P11-070-010-12-HH-782X-00000

PLANETARY GEARBOXES

SG 070

I _Dimensions (Units:mm)

| SHAFT SIDE VIEW | | FLANGE SIDE VIEW |
23 62 36
5h9 : -r; M4x10
o 7]
o
st 20 4.0
s
= . o I~
w0 | __ o — x| £ o
S I — 4 S
/ 5
I =
4XM5 62+0.05 12
30 max
=
. . . Maximum Maximum
| | T e | | | | e | e | G | G
MODEL torque output torque | output torque speed input speed SUness on ;ti)t%zlnfhaft on L?Lﬁ)tmnfhaft Y of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min] | [min"] |[Nm/arcmin]|  [N] IN] [%] [Kgm]
$G-P11-070-010-12-HH-782X-00000 18 30 60 12 4000 6000 3 1300 1400 97 0.06x10"
[ _Suggested motors
‘ 103-H7823 SERIES
W M & & i o
e _['1,-.'.- AL = i i Q
- A S
I > B Ly
S ‘. ot 0
MOUNTING OPERATION MODE: B Tightening torque M=5 Nm B |ocking bolt M4 M R.T.A. Quality Control EJ
~
w




g
o
Q
S
Ly
O
o
&
e
=
wv

H€-P11-070-010-12-SM-2861-00000

SG 070

I _Dimensions (Units:mm)
[ SHAFT SIDE VIEW | [__FLANGE SIDE VIEW |
25 62 36
5h9 : 53
n \ 2 Tl
& RN B gf 20 4.0
/ | \\‘ Q
! v . ———1. |-~
@B s - =
\ A : = — -z
NV -
N " (] 2
4xXM5 62:6.05 12
32 max
|
=
|
Rated Maximum Emergency Nominal Maximum Torsional rz:ﬁdal)aﬂtn;:pcqe :ﬁ ?;lll;:Jur?e Gear Gear
output acceleration step Backlash input momentary . ) - : moment
MODEL torque output torque | output torque speed input speed sifness o gt?t’:)lmnsghaft on gﬂl\ﬂnsghaft eficency of inertia
[Nm] [Nm] [Nm] | [arcmin] | [min"] [min™] |[Nm/arcmin]  [N] IN] %] [Kgmi
§G-P11-070-010-12-SM-2861-00000, 18 30 60 12 4000 6000 3 1300 1400 97 0.04x10°

. Suggested motors

SM 2861 SERIES

\ i 3
\ M & <

LN

PO\ =—

1 \V’ | P
\;___ J 2 s o
D\ Y

MOUNTING OPERATION MODE: M Tightening torque M=5 Nm B Locking bolt M4 B R.T.A. Quality Control




Hd-P11-090-010-12-SM-286X-00000

SG 090

¢=010

P=12'

n MADE
IN
ITALY
(YY)
IP64

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW ] [_FLANGE SIDE VIEW_]
34 72.3 46
6h9 4 5; M5x16
2 T & —)
gf 32 { 2 P
[
R L __
Q L
3
1
4xM6 15
40 max
|
=
1
Rated Maximum Emergency Nominal Maximum Torsional rzi’\dal:]lnf]tl)]rrze ;i\(laaxl"f%urrcne Gear Gear
output acceleration step Backlash input momentary . ) ) . moment
MODEL torque output torque | output torque speed input speed sifness o gﬁtﬂzltnfhaft on gt?ti;)lzltnfhaft effcency of inertia
[Nm] [Nm] (Nm] | [arcmin] | [min"] [min'] |[Nm/arcmin]  [N] IN] 1%] [Kem]
§G-P11-090-010-12-SM-286X-00000, 37 70 150 1 4000 6000 9 2200 1900 97 0.35x10°
) _Suggested motors
- SM 2862 SERIES SM 2863 SERIES
L\ L]

S, e us £, ¢ us

MOUNTING OPERATION MODE: M Tightening torque M=11 Nm W Locking bolt Mé W R.T.A. Quality Control

g
o
a
3
Ly
(O]
R
Q
=
()




Hed-P12-040-025-19-HH-52XX-00000

PLANETARY GEARBOXES

SG 040

¢=025

P<19

_Dimensions (Units:mm)

[ SHAFT SIDE VIEW | [ FLANGE SIDE VIEW |
M6 72
5 2 54 M4 x6
I
| . 1
oy o
[S] S} Q \
ALl 2 : ()
Q 3 ‘
=g

D

‘ 4

1o
(2]
Q
24 max
—1

Maximum Maximum

e | aentin | oy | msh | k| ey | R | el | el |G |G
i i i ffici
MODEL torque output torque | output torque speed input speed sifness 2pplying 2pplying ereney of inertia

on output shaft | on output shaft

[Nm] [Nm] [Nm] | [arcmin] | [min"] [min™] |[Nm/arcmin]  [N] IN] %] [Kgm']

§G-P12-040-025-19-HH-52XX-00000 12 18 30 <9 5000 8000 0.8 220 200 97 | 1.5x10°

. Sugested motors

103-H5205 SERIES 103-H5208 SERIES 103-H5210 SERIES

e

MOUNTING OPERATION MODE: M Tightening torque M=5 Nm M Locking bolt M4 M R.T.A. Quality Control

g
o
@
S
Ly
O
o
&
e
=
wv




